oy =
@ ﬁ' (%g%) p Berékna procentsatser i decimaler

namn: Datum: Poiing:
3,12 x30% = 0,6 x40% =
6,41 x 90% = 9,81 x 60% =
0,29 x 50% = 9,22 x 60% =
7,85 % 20% = 0,46 x 50% =
0,53 x 70% = 4,72 x20% =
2,53 x 60% = 5,01 x50% =
1,75 % 70% = 1,58 x90% =
8,28 x 10% = 3,53 x70% =
7,49 x 80% = 7,54 x 80% =
8, 69 x 80% = 7,28 x 80% =
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Berékna procentsatser i decimaler

namn:

3,12 x30% = 0.936

6,41 x 90% = 5.769

0,29 x 50% = 0.145

7,85 x20% = 1.57

0,53 x70% = 0.371

2,53 x60% = 1.518

1,75 x70% = 1.225

8,28 x 10% = 0.828

7,49 x 80% = 5.992

8,69 x 80% = 6.952

Datum:

0,6 x40% = 0.24

9, 81 x 60% = 5.886

9,22 x 60% = 5.532

0,46 x 50% = 0.23

4,72 x20% = 0.944

5,01 x50% = 2.505

1,58 x90% = 1.422

3,53 x70% = 2.471

7,54 x 80% = 6.032

7,28 x 80% = 5.824
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